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https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. If the origin of a coordinate system is shifted
to ( — /2. \/5) and then the coordinate
system is rotated anticlockwise through an
angle 45°, the point P(1, — 1) in the original

system has new coordinates

A (V2, - 2v2)
B. (0, — 2v/2)

C. (0, —2—+2)
D. (0, — 2+ /2)

Answer: C


https://dl.doubtnut.com/l/_SLvmYZFC1fcx

° View Text Solution

2. The point (2,3) is first reflected in the
straight line y=x and then translated through
a distance of 2 units along the positive
direction X-axis. The coordinates of the

transformed point are


https://dl.doubtnut.com/l/_SLvmYZFC1fcx
https://dl.doubtnut.com/l/_z6QGOfLf5ZAI

D. (4, 5)

Answer: C

° Watch Video Solution

3. The locus of the centroid of the triangle
with vertices at (acos @, asinb),
(bsinf — bcos @) and (1,0) is (here, 0 is a

parameter)

A (3z +1)* + 99> = a® + b


https://dl.doubtnut.com/l/_z6QGOfLf5ZAI
https://dl.doubtnut.com/l/_YY7AKyd7vc6z

B.(3z — 1)° + 9y° = a® — 1’
C.(3z — 1) + 9% = a® + b

D.(3z 4+ 1)* + 9y% = a® — V?

Answer: C

o Watch Video Solution

4. The origin is translated to (1, 2). The point
(7,5) in the old system undergoes the
following transformations successively.

I. Moves to the new point under the given


https://dl.doubtnut.com/l/_YY7AKyd7vc6z
https://dl.doubtnut.com/l/_IMJM6S8rfovh

translation of origin.
II Translated through 2 units along the
negative direction of the new X-axis.

71'
III. Rotated through an angle 1 about the
origin of new system in the clockwise

direction. The final position of the point (7, 5)

is
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https://dl.doubtnut.com/l/_IMJM6S8rfovh

Answer: C

° View Text Solution

5. The point (4,1) undergoes the following
transformations successively
|. Reflection about the liney = «
ll. Translation through a distance 2 units in the
direction of positive X-axis.

) ™ ..
lll. Rotation through an angle 1 about origin

in the anticlock wise direction.

Then, the final position of the point is


https://dl.doubtnut.com/l/_IMJM6S8rfovh
https://dl.doubtnut.com/l/_HqcY0LbPHg3K

A (— VI8, y/T8)

Answer: C

o Watch Video Solution

6. The locus of a point such that the sum of its
distances from the points (0, 2) and (0, — 2)

is 6 is


https://dl.doubtnut.com/l/_HqcY0LbPHg3K
https://dl.doubtnut.com/l/_4dxWNBK9MIBA

A.9z% — 5y% = 45
B.5x” + 9y® = 45
C.92% + 5y* = 45

D.5z% — 9y? = 45

Answer: C

o Watch Video Solution

7. The transformed equation of z? + y2 — g2

when the axes are rotated through an angle

36° is


https://dl.doubtnut.com/l/_4dxWNBK9MIBA
https://dl.doubtnut.com/l/_7YnBHsdmAQfO

A /bX? —4XY +Y? = ¢?
B.X? +2XY — /5Y? =7
CX*-Y?=r?

D.X2+Y?2 =72

Answer: D

o Watch Video Solution

8. The coordinate axes are rotated through an
angle 135°. If the coordinates of a point P in

the new system are known to be (4, — 3),


https://dl.doubtnut.com/l/_7YnBHsdmAQfO
https://dl.doubtnut.com/l/_fwuDSDfxqykt

then the coordinates of P in the original

system are

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_fwuDSDfxqykt

9. The point P is equidistant from A(1, 3),

B( —3,5)and C(5, — 1),then PA is equal to

A.5
B.5,/5
C. 25

D.5,/10

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_PwI1dFLI3yKP
https://dl.doubtnut.com/l/_1j0TraC36YtS

10. If the axes are rotated through an angle
45° in the positive direction without changing
the origin, then the coordinates of the point

(v/2, 4) in the old system are

A (1-2v2,1+2/2)
B. (14 2v/2,1— 22
. (213, 13)

D. (v/2, 2)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_1j0TraC36YtS

11. If a point
(z,y) = (tanf + sinf, tanf — sinf) , then

the locus of (z, y) is

2/3 _

A (2%9)"" + (zv)
B.z? — y? = 4xy

C.x? — y2 = 12zy

D. (:132 — y2)2 = 16zy

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_1j0TraC36YtS
https://dl.doubtnut.com/l/_UaFlgLfJQxDX



https://dl.doubtnut.com/l/_UaFlgLfJQxDX

